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Please make sure that the printed pages in this gquestion paper of Part-IlI are 16 in
number and it contains 40 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T [7 -
General Instructions :
(i) G T SfEr &

All questions are compulsory.
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(2) 5504
(i) &8 FAT HGH Fa-YiaHl 7 fag

Write correct answer in your answer-book.

1. 26 3 91 F Ho Ho o (HCF) ¥ : 1
(A) 26 (B) 13
(C) 15 (D) 91

The HCF of 26 and 91 is :

(A) 26 (B) 13
(C) 15 (D) 91
2. Frfafad § § ®W-df den aiem gen & 7 1
(4) V18 B) 36
(€) 40 (D) 48

Which of the following numbers is a rational number ?

(A) 18 (B) 36
(C) <40 (D) 48
3. frffad § 156 & o9 @S & 1
(A) 2x2x3x13 (B) 4x3x13
(C) 39x4 (D) 2x6x13
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Which of the following is prime factorization of 156 ?

(A) 2x2x3x13 (B) 4x3x13
(C) 39x4 (D) 2x6x13
4. HCF (26,91) = 13 f&41 81 LCM (26, 91) BT : 1
(A) 13 (B) 172
(C) 182 (D) 2366

Given that HCF (26, 91) = 13, LCM (26, 91) will be :

(A) 13 (B) 172
(C) 182 (D) 2366
5. faud agm® x? +7x+10 B EH F PGS & 1
(A) 10 (B) 7
10 7
[€) G (D) &

The product of zeroes of quadratic polynomial X2 +Tx+10 is:

(A) 10 B) 7
10 7
(C) T (D) T
6. M=o & & Sm-ar divig s 0F 95U o 1
(A} 2M3E5 (B) izm
X
() x+%+2 (D) 5x%2-7x+6

Which of the following expressions is a polynomial ?

Ay x/3-s (B) —12-—1-6
X

(C) x+l+2 (D) 5x2 -7Tx+6
X
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7. Toamd 95 4x° +8x DA R : 1
(A) 4,8 (B) 0, =2
(C) 0,2 (D) 4,2

The zeroes of quadratic polynomial 4x? + 8x are :

(A) 4,8 (B) 0,2
(C) 0,2 (D) 4,2

8. % 95U ax+ b, a= 0B MA@ (IF) F FFE FHR 9w WX R 7 1
(A) uE = (B) €& @
(C) 9Eed (D) TS e

By which type of graph a linear polynomial ax + b, a # 0 will be represented :

(A) Pie Chart (B) Straight Line
(C) Ring (D) Bar Graph
9. UF TEUS forEel Ud 4 ¥ Ih AfGTH O 8 HE 8 1
(4) 1 (B) 2
(€) 3 (D) 4

The maximum number of zeroes that a polynomial of degree 4 can have :
(A) 1 (B) 2
(€) 3 (D) 4

10. T ayx+by+c; =0 T asx+byy+cy =0 # El-;tﬁ- 8, @ ffatea o

dg by
BT FT 2 7 1
(A) T Y@ (B) wfreddr Yamt
(C) Huwh @ (D) T ¥ FE
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In equations ajx+bjy+c; =0 and asx+byy+cy =0if A4 ;i , then which
a9 2

of the following is true ?

(A) Parallel lines (B) Intersecting lines

(C) Coincident lines (D) None of these

11. Was THIH TH x+y= 14 T x -y =4 F x F 79 81 : 1

1

AN - (B) S
1

2 D) 9

In the pair of linear equations x + y = 14 and x — y = 4, the value of x will be :

1

(A) 5 (B) 5
B = O 9
12. s T JH x + 2y = 4 T 2x+ 4y =8 % &d &l : 1
(A) oTfEdT B (B) #1E & A
(C) omif &7 § 3% B (D) TH & FE 7w

The solutions of pair of linear equations x + 2y =4 and 2x+ 4y = 8 will be:

(A) Unique solution (B) No solution
(C) Infinite many solutions (D) None of these
13. fr=fafea & @1 feam o 78 2 7 1
(A) x%2+3x-5=0 (B) x%2-9=0
€ x2-x3+2=0 (D) 3+x+x2=0
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Which of the following is not a quadratic equation ?

(A) x%2+3x-5=0 (B) x2-9=0
(C) x2-x2+2=0 (D) 3+x+x%=0
14. fEERM TS x2 -3x-10=0 1 fafawst B : 1
(A) 40 (B) 49
(C) 64 (D) 31
The diseriminant of quadratic equation x2-3x-10=0 is:
(A) 40 (B) 49
(C) 64 (D) 31
18 A P NS0, 16,02 400 H GrEATT B 1
(A) 6 (B) 4
(C) -6 (D) 10
The common difference of A. P. : 4, 10, 16, 22 ........ is.
(A) 6 (B 4
(C) -6 (D) 10
16. IR A.P. ® ndl W a, =3+2n B, O G B0 1
(A) 9 B) 7
(C) 5 (D) 2

The nth term of an A. P. is given by a,, = 3+ 2n, the common difference will be :
(A) 9 (B) 7

(€) 5 (D) 2

5504/ Il



(7)
17. A.P.:7,13,19 ......... P ndl 9 B
(A) 6n+1 (B) 6n-1
(C) 7n+2 (D) 7n-2
The nth term ofan A. P.: 7, 13, 19 ......... is.
(A) 6n+1 (B) 6n-1
(C) Tn+2 (D) 7n-2

18. AR a=7,d=3,n=83, @ a, & 79 BT :
(A) 21 (B) 14
(C) 28 (D) 24

If a=7,d=3, n= 8, then value of a,, will be :

(A) 21 (B) 14
(C) 28 (D) 24
19. A.P.:3,8, 13 ......... & 11df 98 2
(A) 150 (B) 50
(C} 53 (D) 65
The 11th term ofan A. P. : 3, 8, 13 ......... will be.
(A) 150 (B) S50
(C) 53 (D) 65

5504/ Il
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20. A.P.:2, 712 .covaens H 10 i FT I B 1
(A) 250 (B) 245
(C) 260 (D) 280
The sum of 10 termsofan A. P. : 2,7, 12 ......... is.
(A) 250 (B) 245
(C) 260 (D) 280
21. ¥¥9 100 99 Uil &1 40T 3 1
(A) 1050 (B) 550
(C) 5050 (D) 5000

The sum of first 100 positive integers is :

(A) 1050 (B) 550
(C) 5050 (D) 5000

22. g Px, y) @ aw &g 00, ) F g # : 1
A) 22 +y ®) x+u?
(€) x°-y° D) x*+y?

The distance between the point P(x, y) and origin O (0, 0) is :
(A) x4y (B) ix+yy

(@) " — g2 D) Lsc? + *
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23. fag P2, 3)F x@ 8 30 5 : 1
(A) 2 (B) 3
(€) 1 D) 5

The distance of the point P(2, 3) from the x-axis is :

(A) 2 B) 3
(C) 1 (D) 5

24. fagalt (2,3)3 (4, 1) daa gt B 1
A) 18 B) V12
) 7 (D) 8
The distance between points (2, 3) and (4, 1) is :
(a) 18 (B) 12
(€ 7 D) 8

25. fawgal (4, -3) 3lT (8, 5) Ft S ot Tam@vs 3 7y fig & Fdwns & - 1
(A) 12,2 (B) 4,2
(C) 6,1 (D) 1,13

The coordinates of mid point of the line joining the points (4, -3) and (8, 5)

are .

(Al Y122 (B) 4,2

(C) 6,1 (D) 1,13
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26. x-5d T Rea B fig & s & 2 1
(A) (0, 0) (B) (x, 0)
(€) (%Y (D) (0,

The coordinates of a point lie on x-axis are :

(A) (0, 0) (B) (% 0)
(C) (% y) (D) (0, x)
27. Hﬁt.an{i:% 2, o sin 0 &1 99 BN : 1
5 3
(A) 3 (B) E
5] =
(C) Y (D) =

If tan® =%, then the value of sin 0 will be :

® 2 ® -
© 2 o 3
28. sin 60° x cos 30° & A4 ¥ : 1
@ 2 ® -
© o -
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The value of sin 60° % cos 30° will be :

9
A = B —
(A) 3 (B)
3 9
C)] — DY =
(C) 6 (D) 16
29. sin?0+cos@=........., Raq &= &« ; 1
(A) 2 (B) =
© 1 D) =
2
Fill in the blank : sin? 8 +cos?0=.......... .
(4) 2 (B) -1
© 1 D) =
2
30. &l ga & Y BourEs & §F%a §d B B [0¢ G rag 1
Write the formula to find out the area of minor sector of a circle.
31. 5t gu @ B9 7 om 2, SHET GRAMT &4 1
(A) 44 cm (B) 44 cm?
(C) 54 cm (D) 54 cm?

The radius of a circle is 7 cm, the circumference will be :

(A) 44 cm (B) 44 cm?
(C) 54 cm (D) 54 em?
32. UH 9% B BT 5 cm B SR IOH [0EF HTE 7 cm BN oG W TH TOE FAGA BT ;T
(A) 120 cm? (B) 130 cm?
(C) 110cm? (D) 100 cm?
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The radius of a cone is 5 ecm and its slant height is 7 em. The curved surface

area of this cone will be :

(A) 120 cm? (B) 130 cm?
(C) 110cm? (D) 100 cm?
33. B RaW 99 ® IH Brus @ 8%, S S pe ¥, 8 1
a) £ xozR B) £ xnRr2
180 180
© £ x2rr D) -2 x2zr?
360 720

Area of a sector of angle p (in degrees) of a circle with radius R is :

a) -2 xo2rr B) -2 xnR?
180 180
) £ xa2mr D) £ x2nr?
360 720
34. 5 o9 1 Y1 4 cm B, THH FFTT A : 1
(A) 64 cm? (B) 64 cm®
(C) 12 cm® (D) 12 cm?

The side of a cube is 4 cm. Its volume will be :

2 3

(A) 64 cm (B) 64 cm
(C) 12 em® (D) 12 cm?
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35. TH 919 # 90T 4 cm x 5 cm x 2 cm &, 39H G # ¢

(A) 11 cm? (B) 40 cm?

(C) 40 em® (D) 11 cm®

The dimensions of a cuboid are 4 cm X S em % 2 cm, then its volume is :

(A) 11 cm? (B) 40 cm?

(C) 40 cm® (D) 11 em®

36. f=ifiad ¥ & HM-T ANAS T B & G & ¢

f£+c.f (E—c.f\
(A) 1+|2 x h (B) | 1+|-2 xh
¥ i
\, /
c.f+~r-1— ffﬁ—c.f\1
(C) 1+ fgxh, (D) th x f

Which of the following is the formula to find median ?

2oy g -oF

(A) 1+|2 > x h B) 1+|2 ; xh
J
C.f-——-{l- -—’l—c.f\

(C) 1+ fgxh (D) 1+9h x f

5504/ Il
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37. fAifeian Srear se & sgas @ B

(A)

(B)

(C)

(D)

5504

-3

0-10

10-20

20-30

30-40

40-50

20-60

0-10

10-20

40-50

30-40

In the following frequency distribution, the modal class will be :

(4)

(B)

(C)

(D)

5504/ Il

Class-Interval

0-10

10-20

20-30

30-40

40-50

50-60

Frequency

0-10

10-20

40-50

30-40
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38. R @ WX : 1
geAT "E" & Wi + 9eA "E T8 @ TS W = s ]
(A) O (B) 1
(C) 2 (D) -1

Fill in the blank :

Probability of an event "E" + Probability of the event "not E" = ............. :

(A) O (B) 1
(C) 2 (D) -1
39. Fwfafed ¥ 4 HW-d Fe fFl ae= $1 Widear 787 & gl ¢ 1
(A) 2/3 (B) '-1.5
(C) 15% (D) 0.7

Which of the following can not be the probability of an event ?
(a) 2/3 (B) -1.5

(C) 15% (D) 0.7

40. 52 TR @ T FER § Bl TS OF TgEl § H UF O R S F A T H SR

9T HTA F AiHar BT 1
3 3

(A) =5 (B) o
1 1

(C) 56 (D) >
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